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Some Properties of Nuclei
All	nuclei	are	composed	of	two	types	of	particles:	protons	and	neutrons.	The	only	
exception	is	the	ordinary	hydrogen	nucleus,	which	is	a	single	proton.	We	describe	the	
atomic	nucleus	by	the	number	of	protons	and	neutrons	it	contains,	using	the	following	
quantities:	

• the	atomic	number	 ,	which	equals	the	number	of	protons	 
in	the	nucleus	(sometimes	called	the	charge	number)	


• the	neutron	number	 ,	which	equals	the	number	of	neutrons	in	the	nucleus	

• the	mass	number	 ,	which	equals	the	number	of	nucleons	 
(neutrons	plus	protons)	in	the	nucleus

Z

N
A = Z + N
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 You might wonder how six protons and six neutrons, each having a mass larger 
than 1 u, can be combined with six electrons to form a carbon-12 atom having a 
mass of exactly 12 u. The bound system of 12C has a lower rest energy (Section 39.8) 
than that of six separate protons and six separate neutrons. According to Equation 
39.24, ER 5 mc2, this lower rest energy corresponds to a smaller mass for the bound 
system. The difference in mass accounts for the binding energy when the particles 
are combined to form the nucleus. We shall discuss this point in more detail in Sec-
tion 44.2.
 It is often convenient to express the atomic mass unit in terms of its rest-energy 
equivalent. For one atomic mass unit,

ER 5 mc 2 5 (1.660 539 3 10227 kg)(2.997 92 3 108 m/s)2 5 931.494 MeV

where we have used the conversion 1 eV 5 1.602 176 3 10219 J.
 Based on the rest-energy expression in Equation 39.24, nuclear physicists often 
express mass in terms of the unit MeV/c 2.

Table 44.1 Masses of Selected Particles in Various Units
  Mass
Particle kg u MeV/c2

Proton 1.672 62 3 10227 1.007 276 938.27

Neutron 1.674 93 3 10227 1.008 665 939.57

Electron ( b particle) 9.109 38 3 10231 5.485 79 3 1024 0.510 999
1
1H atom 1.673 53 3 10227 1.007 825 938.783
4
2He nucleus (a particle) 6.644 66 3 10227 4.001 506 3 727.38
4
2He atom 6.646 48 3 10227 4.002 603 3 728.40
12

6C atom 1.992 65 3 10227 12.000 000 11 177.9

 

Example 44.1   The Atomic Mass Unit

Use Avogadro’s number to show that 1 u 5 1.66 3 10227 kg.

Conceptualize  From the definition of the mole given in Section 19.5, we know that exactly 12 g (5 1 mol) of 12C con-
tains Avogadro’s number of atoms.

Categorize  We evaluate the atomic mass unit that was introduced in this section, so we categorize this example as a 
substitution problem.

S O L U T I O N

Find the mass m of one 12C atom: m 5
0.012 kg

6.02 3 1023 atoms
5 1.99 3 10226 kg

Because one atom of 12C is defined to have a mass of 
12.0 u, divide by 12.0 to find the mass equivalent to 1 u:

1 u 5
1.99 3 10226 kg

12.0
5 1.66 3 10227 kg

The Size and Structure of Nuclei
In Rutherford’s scattering experiments, positively charged nuclei of helium atoms 
(alpha particles) were directed at a thin piece of metallic foil. As the alpha particles 
moved through the foil, they often passed near a metal nucleus. Because of the 
positive charge on both the incident particles and the nuclei, the particles were 
deflected from their straight-line paths by the Coulomb repulsive force.

A
ZX



Phat	Srimanobhas;	Nuclear	physics 2

Isotopes
The	different	isotopes	of	a	given	element	have	the	same	atomic	number	but	different	
mass	numbers	since	they	have	different	numbers	of	neutrons.	The	chemical	
properties	of	the	different	isotopes	of	an	element	are	identical,	but	they	will	often	
have	great	differences	in	nuclear	stability.
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 Rutherford used the isolated system (energy) analysis model to find an expres-
sion for the separation distance d at which an alpha particle approaching a nucleus 
head-on is turned around by Coulomb repulsion. In such a head-on collision, the 
mechanical energy of the nucleus–alpha particle system is conserved. The initial 
kinetic energy of the incoming particle is transformed completely to electric poten-
tial energy of the system when the alpha particle stops momentarily at the point of 
closest approach (the final configuration of the system) before moving back along 
the same path (Fig. 44.1). Applying Equation 8.2, the conservation of energy prin-
ciple, to the system gives

DK 1 DU 5 010 2 1
2mv2 2 1 ake 

q1q2

d
2 0b 5 0

where m is the mass of the alpha particle and v is its initial speed. Solving for d gives

d 5 2ke 
q1q2

mv2 5 2ke 
12e 2 1Ze 2

mv2 5 4ke 
Ze 2

mv2

where Z is the atomic number of the target nucleus. From this expression, Ruth-
erford found that the alpha particles approached nuclei to within 3.2 3 10214 m 
when the foil was made of gold. Therefore, the radius of the gold nucleus must be 
less than this value. From the results of his scattering experiments, Rutherford con-
cluded that the positive charge in an atom is concentrated in a small sphere, which 
he called the nucleus, whose radius is no greater than approximately 10214 m.
 Because such small lengths are common in nuclear physics, an often-used conve-
nient length unit is the femtometer (fm), which is sometimes called the fermi and is 
defined as

1 fm ; 10215 m

 In the early 1920s, it was known that the nucleus of an atom contains Z pro-
tons and has a mass nearly equivalent to that of A protons, where on average  
A < 2Z for lighter nuclei (Z # 20) and A . 2Z for heavier nuclei. To account for 
the nuclear mass, Rutherford proposed that each nucleus must also contain A 2 Z 
neutral particles that he called neutrons. In 1932, British physicist James Chadwick 
(1891–1974) discovered the neutron, and he was awarded the Nobel Prize in Physics 
in 1935 for this important work.
 Since the time of Rutherford’s scattering experiments, a multitude of other 
experiments have shown that most nuclei are approximately spherical and have an 
average radius given by

 r 5 aA1/3 (44.1)

where a is a constant equal to 1.2 3 10215 m and A is the mass number. Because 
the volume of a sphere is proportional to the cube of its radius, it follows from 
Equation 44.1 that the volume of a nucleus (assumed to be spherical) is directly 
proportional to A, the total number of nucleons. This proportionality suggests that 
all nuclei have nearly the same density. When nucleons combine to form a nucleus, 
they combine as though they were tightly packed spheres (Fig. 44.2). This fact has 
led to an analogy between the nucleus and a drop of liquid, in which the density of 
the drop is independent of its size. We shall discuss the liquid-drop model of the 
nucleus in Section 44.3.

�W Nuclear radius�W Nuclear radius

Because of the Coulomb 
repulsion between the charges of 
the same sign, the alpha particle 
approaches to a distance d from 
the nucleus, called the distance 
of closest approach.
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Figure 44.1 An alpha particle 
on a head-on collision course with 
a nucleus of charge Ze.

Figure 44.2  A nucleus can be 
modeled as a cluster of tightly 
packed spheres, where each  
sphere is a nucleon.Example 44.2   The Volume and Density of a Nucleus

Consider a nucleus of mass number A.

(A)  Find an approximate expression for the mass of the nucleus. continued

Rutherford	used	the	isolated	system	(energy)	analysis	
model	to	find	an	expression	for	the	separation	distance	
	at	which	an	alpha	particle	approaching	a	nucleus	

head-on	is	turned	around	by	Coulomb	repulsion.
d

Since	the	time	of	Rutherford’s	scattering	experiments,	a	multitude	
of	other	experiments	have	shown	that	most	nuclei	are	
approximately	spherical	and	have	an	average	radius	given	by

Ernest	Rutherford
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are the same, apart from the additional repulsive Coulomb force for the proton– 
proton interaction.
 Evidence for the limited range of nuclear forces comes from scattering experi-
ments and from studies of nuclear binding energies. The short range of the nuclear 
force is shown in the neutron–proton (n–p) potential energy plot of Figure 44.3a 
obtained by scattering neutrons from a target containing hydrogen. The depth of 
the n–p potential energy well is 40 to 50 MeV, and there is a strong repulsive com-
ponent that prevents the nucleons from approaching much closer than 0.4 fm.
 The nuclear force does not affect electrons, enabling energetic electrons to serve 
as point-like probes of nuclei. The charge independence of the nuclear force also 
means that the main difference between the n–p and p–p interactions is that the 
p–p potential energy consists of a superposition of nuclear and Coulomb interactions 
as shown in Figure 44.3b. At distances less than 2 fm, both p–p and n–p potential 
energies are nearly identical, but for distances of 2 fm or greater, the p–p potential 
has a positive energy barrier with a maximum at 4 fm.
 The existence of the nuclear force results in approximately 270 stable nuclei; 
hundreds of other nuclei have been observed, but they are unstable. A plot of neu-
tron number N versus atomic number Z for a number of stable nuclei is given in Fig-
ure 44.4. The stable nuclei are represented by the black dots, which lie in a narrow 
range called the line of stability. Notice that the light stable nuclei contain an equal 
number of protons and neutrons; that is, N 5 Z. Also notice that in heavy stable 
nuclei, the number of neutrons exceeds the number of protons: above Z 5 20, the 
line of stability deviates upward from the line representing N 5 Z. This deviation 
can be understood by recognizing that as the number of protons increases, the 
strength of the Coulomb force increases, which tends to break the nucleus apart. 
As a result, more neutrons are needed to keep the nucleus stable because neutrons 
experience only the attractive nuclear force. Eventually, the repulsive Coulomb 
forces between protons cannot be compensated by the addition of more neutrons. 
This point occurs at Z 5 83, meaning that elements that contain more than 83 pro-
tons do not have stable nuclei.
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Figure 44.3  (a) Potential 
energy versus separation distance 
for a  neutron–proton system.  
(b) Potential energy versus separa-
tion distance for a proton–proton 
system. To display the difference 
in the curves on this scale, the 
height of the peak for the proton–
proton curve has been exagger-
ated by a factor of 10.
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the line of stability.

The dashed line 
corresponds to the 
condition N " Z.

Figure 44.4  Neutron number N 
versus atomic number Z for stable 
nuclei (black dots).

The	nuclear	force	(or	nucleon–nucleon	interaction,	residual	strong	force,	or,	
historically,	strong	nuclear	force)	is	a	force	that	acts	between	
the	protons	and	neutrons	of	atoms.	Neutrons	and	protons,	both	nucleons,	are	affected	
by	the	nuclear	force	almost	identically.	Since	protons	have	charge	 ,	they	experience	
an	electric	force	that	tends	to	push	them	apart,	but	at	short	range	the	attractive	
nuclear	force	is	strong	enough	to	overcome	the	electromagnetic	force.	The	nuclear	
force	binds	nucleons	into	atomic	nuclei.

+e
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are the same, apart from the additional repulsive Coulomb force for the proton– 
proton interaction.
 Evidence for the limited range of nuclear forces comes from scattering experi-
ments and from studies of nuclear binding energies. The short range of the nuclear 
force is shown in the neutron–proton (n–p) potential energy plot of Figure 44.3a 
obtained by scattering neutrons from a target containing hydrogen. The depth of 
the n–p potential energy well is 40 to 50 MeV, and there is a strong repulsive com-
ponent that prevents the nucleons from approaching much closer than 0.4 fm.
 The nuclear force does not affect electrons, enabling energetic electrons to serve 
as point-like probes of nuclei. The charge independence of the nuclear force also 
means that the main difference between the n–p and p–p interactions is that the 
p–p potential energy consists of a superposition of nuclear and Coulomb interactions 
as shown in Figure 44.3b. At distances less than 2 fm, both p–p and n–p potential 
energies are nearly identical, but for distances of 2 fm or greater, the p–p potential 
has a positive energy barrier with a maximum at 4 fm.
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hundreds of other nuclei have been observed, but they are unstable. A plot of neu-
tron number N versus atomic number Z for a number of stable nuclei is given in Fig-
ure 44.4. The stable nuclei are represented by the black dots, which lie in a narrow 
range called the line of stability. Notice that the light stable nuclei contain an equal 
number of protons and neutrons; that is, N 5 Z. Also notice that in heavy stable 
nuclei, the number of neutrons exceeds the number of protons: above Z 5 20, the 
line of stability deviates upward from the line representing N 5 Z. This deviation 
can be understood by recognizing that as the number of protons increases, the 
strength of the Coulomb force increases, which tends to break the nucleus apart. 
As a result, more neutrons are needed to keep the nucleus stable because neutrons 
experience only the attractive nuclear force. Eventually, the repulsive Coulomb 
forces between protons cannot be compensated by the addition of more neutrons. 
This point occurs at Z 5 83, meaning that elements that contain more than 83 pro-
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are the same, apart from the additional repulsive Coulomb force for the proton– 
proton interaction.
 Evidence for the limited range of nuclear forces comes from scattering experi-
ments and from studies of nuclear binding energies. The short range of the nuclear 
force is shown in the neutron–proton (n–p) potential energy plot of Figure 44.3a 
obtained by scattering neutrons from a target containing hydrogen. The depth of 
the n–p potential energy well is 40 to 50 MeV, and there is a strong repulsive com-
ponent that prevents the nucleons from approaching much closer than 0.4 fm.
 The nuclear force does not affect electrons, enabling energetic electrons to serve 
as point-like probes of nuclei. The charge independence of the nuclear force also 
means that the main difference between the n–p and p–p interactions is that the 
p–p potential energy consists of a superposition of nuclear and Coulomb interactions 
as shown in Figure 44.3b. At distances less than 2 fm, both p–p and n–p potential 
energies are nearly identical, but for distances of 2 fm or greater, the p–p potential 
has a positive energy barrier with a maximum at 4 fm.
 The existence of the nuclear force results in approximately 270 stable nuclei; 
hundreds of other nuclei have been observed, but they are unstable. A plot of neu-
tron number N versus atomic number Z for a number of stable nuclei is given in Fig-
ure 44.4. The stable nuclei are represented by the black dots, which lie in a narrow 
range called the line of stability. Notice that the light stable nuclei contain an equal 
number of protons and neutrons; that is, N 5 Z. Also notice that in heavy stable 
nuclei, the number of neutrons exceeds the number of protons: above Z 5 20, the 
line of stability deviates upward from the line representing N 5 Z. This deviation 
can be understood by recognizing that as the number of protons increases, the 
strength of the Coulomb force increases, which tends to break the nucleus apart. 
As a result, more neutrons are needed to keep the nucleus stable because neutrons 
experience only the attractive nuclear force. Eventually, the repulsive Coulomb 
forces between protons cannot be compensated by the addition of more neutrons. 
This point occurs at Z 5 83, meaning that elements that contain more than 83 pro-
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versus atomic number Z for stable 
nuclei (black dots).

The	stable	nuclei	are	represented	by	the	black	
dots,	which	lie	in	a	narrow	range	called	the	
line	of	stability.	Notice	that	the	light	stable	
nuclei	contain	an	equal	number	of	protons	
and	neutrons;	that	is,	 .	Also	notice	that	
in	heavy	stable	nuclei,	the	number	of	
neutrons	exceeds	the	number	of	protons:	
above	 ,	the	line	of	stability	deviates	
upward	from	the	line	representing	 .	
Why?

N = Z

Z > 20
N = Z
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Nuclear binding energy

1386 Chapter 44 Nuclear Structure

44.2 Nuclear Binding Energy
As mentioned in the discussion of 12C in Section 44.1, the total mass of a nucleus 
is less than the sum of the masses of its individual nucleons. Therefore, the rest 
energy of the bound system (the nucleus) is less than the combined rest energy of 
the separated nucleons. This difference in energy is called the binding energy of 
the nucleus and can be interpreted as the energy that must be added to a nucleus 
to break it apart into its components. Therefore, to separate a nucleus into protons 
and neutrons, energy must be delivered to the system.
 Conservation of energy and the Einstein mass–energy equivalence relationship 
show that the binding energy Eb in MeV of any nucleus is

 Eb 5 [ZM(H) 1 Nmn 2 M(A
Z X)] 3 931.494 MeV/u (44.2)

where M(H) is the atomic mass of the neutral hydrogen atom, mn is the mass of the 
neutron, M(A

Z X) represents the atomic mass of an atom of the isotope A
Z X, and the 

masses are all in atomic mass units. The mass of the Z electrons included in M(H) 
cancels with the mass of the Z electrons included in the term M(A

Z X) within a small 
difference associated with the atomic binding energy of the electrons. Because 
atomic binding energies are typically several electron volts and nuclear binding 
energies are several million electron volts, this difference is negligible.
 A plot of binding energy per nucleon Eb/A as a function of mass number A for 
various stable nuclei is shown in Figure 44.5. Notice that the binding energy in Fig-
ure 44.5 peaks in the vicinity of A 5 60. That is, nuclei having mass numbers either 
greater or less than 60 are not as strongly bound as those near the middle of the peri-
odic table. The decrease in binding energy per nucleon for A . 60 implies that energy 
is released when a heavy nucleus splits, or fissions, into two lighter nuclei. Energy is 
released in fission because the nucleons in each product nucleus are more tightly 
bound to one another than are the nucleons in the original nucleus. The impor-
tant process of fission and a second important process of fusion, in which energy is 
released as light nuclei combine, shall be considered in detail in Chapter 45.

Binding energy of a nucleus X
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Figure 44.5  Binding energy 
per nucleon versus mass number 
for nuclides that lie along the line 
of stability in Figure 44.4. Some 
representative nuclides appear as 
black dots with labels.

Pitfall Prevention 44.2
Binding Energy When separate 
nucleons are combined to form a 
nucleus, the energy of the system 
is reduced. Therefore, the change 
in energy is negative. The absolute 
value of this change is called the 
binding energy. This difference 
in sign may be confusing. For 
example, an increase in binding 
energy corresponds to a decrease in 
the energy of the system.

The	total	mass	of	a	nucleus	is	less	than	the	sum	of	the	masses	of	its	individual	
nucleons.	Therefore,	the	rest	energy	of	the	bound	system	(the	nucleus)	is	less	than	the	
combined	rest	energy	of	the	separated	nucleons.	This	difference	in	energy	is	called	the	
binding	energy	of	the	nucleus	and	can	be	interpreted	as	the	energy	that	must	be	
added	to	a	nucleus	to	break	it	apart	into	its	components.
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Exercise
Assume	a	hydrogen	atom	is	a	sphere	with	diameter	0.100	nm	and	a	hydrogen	molecule	
consists	of	two	such	spheres	in	contact.	

(a) What	fraction	of	the	space	in	a	tank	of	hydrogen	gas	at	0°C	and	1.00	atm	is	occu-	

pied	by	the	hydrogen	molecules	themselves?	

(b) What	fraction	of	the	space	within	one	hydrogen	atom	is	occupied	by	its	nucleus,	of	

radius	1.20	fm?	
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Radioactivity
The	decay	process	is	probabilistic	in	nature	and	can	be	described	with	statistical	
calculations	for	a	radioactive	substance	of	macroscopic	size	containing	a	large	number	
of	radioactive	nuclei.	For	such	large	numbers,	the	rate	at	which	a	particular	decay	
process	occurs	in	a	sample	is	proportional	to	the	number	of	radioactive	nuclei	present	
(that	is,	the	number	of	nuclei	that	have	not	yet	decayed).	

1392 Chapter 44 Nuclear Structure

which, upon integration, gives
 N 5 N0e2lt (44.6)

where the constant N0 represents the number of undecayed radioactive nuclei at 
t 5 0. Equation 44.6 shows that the number of undecayed radioactive nuclei in a 
sample decreases exponentially with time. The plot of N versus t shown in Figure 
44.10 illustrates the exponential nature of the decay. The curve is similar to that for 
the time variation of electric charge on a discharging capacitor in an RC circuit, as 
studied in Section 28.4.
 The decay rate R, which is the number of decays per second, can be obtained by 
combining Equations 44.5 and 44.6:

 R 5 ` dN
dt

` 5 lN 5 lN0e2lt 5 R 0e2lt (44.7)

where R 0 5 lN0 is the decay rate at t 5 0. The decay rate R of a sample is often 
referred to as its activity. Note that both N and R decrease exponentially with time.
 Another parameter useful in characterizing nuclear decay is the half-life T1/2:

The half-life of a radioactive substance is the time interval during which half 
of a given number of radioactive nuclei decay.

To find an expression for the half-life, we first set N 5 N0/2 and t 5 T1/2 in Equa-
tion 44.6 to give

N0

2
5 N0e2lT1/2

Canceling the N0 factors and then taking the reciprocal of both sides, we obtain 
e lT1/2 5 2. Taking the natural logarithm of both sides gives

 T1/2 5
ln 2

l
5

0.693
l

 (44.8)

After a time interval equal to one half-life, there are N0/2 radioactive nuclei remain-
ing (by definition); after two half-lives, half of these remaining nuclei have decayed 
and N0/4 radioactive nuclei are left; after three half-lives, N0/8 are left; and so on. In 
general, after n half-lives, the number of undecayed radioactive nuclei remaining is

 N 5 N0 11
2 2n  (44.9)

where n can be an integer or a noninteger.
 A frequently used unit of activity is the curie (Ci), defined as

1 Ci ; 3.7 3 1010 decays/s

This value was originally selected because it is the approximate activity of 1 g of 
radium. The SI unit of activity is the becquerel (Bq):

1 Bq ; 1 decay/s

Therefore, 1 Ci 5 3.7 3 1010 Bq. The curie is a rather large unit, and the more fre-
quently used activity units are the millicurie and the microcurie.

Exponential behavior of the X
 number of undecayed nuclei

Exponential behavior X 
of the decay rate

Half-life X

The curie X

The becquerel X

N(t)
N0
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N0
1
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t

N !N0e –  t

T1/2 2T1/2

!

The time interval T1/2 is 
the half-life of the sample.

Figure 44.10 Plot of the expo-
nential decay of radioactive nuclei. 
The vertical axis represents the 
number of undecayed radioactive 
nuclei present at any time t, and 
the horizontal axis is time.

Pitfall Prevention 44.5
Half-life It is not true that all the 
original nuclei have decayed after 
two half-lives! In one half-life, half 
of the original nuclei will decay. 
In the second half-life, half of 
those remaining will decay, leav-
ing 14 of the original number.
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Radioactivity
Decay	rate	 	and	activity:R

Half-life:	The	half-life	of	a	radioactive	substance	is	the	time	interval	during	which	half	
of	a	given	number	of	radioactive	nuclei	decay.	

Unit	of	activity:	curie	(Ci)	and	becquerel	(Bq)	
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Exercise
The	radioactive	isotope	Au-198	has	a	half-life	of	64.8	h.	A	sample	containing	this	
isotope	has	an	initial	activity	(t	=	0)	of	40.0	mCi.	Calculate	the	number	of	nuclei	that	
decay	in	the	time	interval	between	t1	=	10.0	h	and	t2	=	12.0	h.	
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Exercise
The	half-life	of	I-131	is	8.04	days,

(a) Find	the	decay	constant	for	this	nuclide.	

(b) Find	the	number	of	nuclei	necessary	to	produce	a	sample	with	an	activity	of	6.40	

mCi.	

(c) A	sample	of	I-131	with	this	initial	activity	decays	for	40.2	d.	What	is	the	activity	at	

the	end	of	that	period?	
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The decay processes: alpha decay
Alpha	decay	or	α-decay	is	a	type	of	radioactive	decay	in	which	an	atomic	
nucleus	emits	an	alpha	particle	(helium	nucleus)	and	thereby	transforms	or	'decays'	
into	a	different	atomic	nucleus,	with	a	mass	number	that	is	reduced	by	four	and	
an	atomic	number	that	is	reduced	by	two.	
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ity (with a few exceptions) are tan circles that represent very proton-rich nuclei for 
which the primary decay mechanism is alpha decay, which we discuss first.

Alpha Decay
A nucleus emitting an alpha particle (4

2He) loses two protons and two neutrons. 
Therefore, the atomic number Z decreases by 2, the mass number A decreases by 4, 
and the neutron number decreases by 2. The decay can be written

 A
Z X   S   AZ 2

2
4
2Y 1 42He (44.10)

where X is called the parent nucleus and Y the daughter nucleus. As a general rule 
in any decay expression such as this one, (1) the sum of the mass numbers A must 
be the same on both sides of the decay and (2) the sum of the atomic numbers Z 
must be the same on both sides of the decay. As examples, 238U and 226Ra are both 
alpha emitters and decay according to the schemes

 238
92U S 234

90Th 1 42He (44.11)

 226
88Ra S 222

86Rn 1 42He (44.12)

The decay of 226Ra is shown in Figure 44.12.
 When the nucleus of one element changes into the nucleus of another as hap-
pens in alpha decay, the process is called spontaneous decay. In any spontane-
ous decay, relativistic energy and momentum of the parent nucleus as an isolated 
system must be conserved. The final components of the system are the daughter 
nucleus and the alpha particle. If we call MX the mass of the parent nucleus, MY the 
mass of the daughter nucleus, and Ma the mass of the alpha particle, we can define 
the disintegration energy Q of the system as

 Q 5 (MX 2 MY 2 Ma)c 2 (44.13)

The energy Q is in joules when the masses are in kilograms and c is the speed of 
light, 3.00 3 108 m/s. When the masses are expressed in atomic mass units u, how-
ever, Q can be calculated in MeV using the expression

 Q 5 (MX 2 MY 2 Ma) 3 931.494 MeV/u (44.14)

Table 44.2 (page 1396) contains information on selected isotopes, including masses 
of neutral atoms that can be used in Equation 44.14 and similar equations.
 The disintegration energy Q is the amount of rest energy transformed and 
appears in the form of kinetic energy in the daughter nucleus and the alpha par-
ticle and is sometimes referred to as the Q value of the nuclear decay. Consider the 
case of the 226Ra decay described in Figure 44.12. If the parent nucleus is at rest 
before the decay, the total kinetic energy of the products is 4.87 MeV. (See Example 
44.7.) Most of this kinetic energy is associated with the alpha particle because this 
particle is much less massive than the daughter nucleus 222Rn. That is, because the 
system is also isolated in terms of momentum, the lighter alpha particle recoils with 
a much higher speed than does the daughter nucleus. Generally, less massive par-
ticles carry off most of the energy in nuclear decays.
 Experimental observations of alpha-particle energies show a number of discrete 
energies rather than a single energy because the daughter nucleus may be left in an 
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Pitfall Prevention 44.6
Another Q We have seen the 
symbol Q before, but this use is a 
brand-new meaning for this sym-
bol: the disintegration energy. In 
this context, it is not heat, charge, 
or quality factor for a resonance, 
for which we have used Q before.
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Figure 44.12 The alpha decay of 
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Phat	Srimanobhas;	Nuclear	physics 13

The decay processes: beta decay
beta	decay	(β-decay)	is	a	type	of	radioactive	decay	in	which	a	beta	particle	(fast	
energetic	electron	or	positron)	is	emitted	from	an	atomic	nucleus,	transforming	the	
original	nuclide	to	an	isobar	of	that	nuclide.

1400 Chapter 44 Nuclear Structure

where, as mentioned in Section 44.4, e2 designates an electron and e1 designates a 
positron, with beta particle being the general term referring to either. Beta decay is not 
described completely by these expressions. We shall give reasons for this statement shortly.
 As with alpha decay, the nucleon number and total charge are both conserved in 
beta decays. Because A does not change but Z does, we conclude that in beta decay, 
either a neutron changes to a proton (Eq. 44.15) or a proton changes to a neutron 
(Eq. 44.16). Note that the electron or positron emitted in these decays is not pres-
ent beforehand in the nucleus; it is created in the process of the decay from the rest 
energy of the decaying nucleus. Two typical beta-decay processes are

   14
6C   S   14

7N 1 e2 (incomplete expression) (44.17)

 12
7N   S   12

6C 1 e1    (incomplete expression) (44.18)

 Let’s consider the energy of the system undergoing beta decay before and after 
the decay. As with alpha decay, energy of the isolated system must be conserved. 
Experimentally, it is found that beta particles from a single type of nucleus are 
emitted over a continuous range of energies (Fig. 44.15a), as opposed to alpha 
decay, in which the alpha particles are emitted with discrete energies (Fig. 44.15b). 
The kinetic energy of the system after the decay is equal to the decrease in rest 
energy of the system, that is, the Q value. Because all decaying nuclei in the sample 
have the same initial mass, however, the Q value must be the same for each decay. So, 
why do the emitted particles have the range of kinetic energies shown in Figure 
44.15a? The isolated system model and the law of conservation of energy seem to 
be violated! It becomes worse: further analysis of the decay processes described by 
Equations 44.15 and 44.16 shows that the laws of conservation of angular momen-
tum (spin) and linear momentum are also violated!
 After a great deal of experimental and theoretical study, Pauli in 1930 proposed 
that a third particle must be present in the decay products to carry away the “miss-
ing” energy and momentum. Fermi later named this particle the neutrino (little 
neutral one) because it had to be electrically neutral and have little or no mass. 
Although it eluded detection for many years, the neutrino (symbol n, Greek nu) 
was finally detected experimentally in 1956 by Frederick Reines (1918–1998), who 
received the Nobel Prize in Physics for this work in 1995. The neutrino has the fol-
lowing properties:

r� It has zero electric charge.
r� Its mass is either zero (in which case it travels at the speed of light) or very 

small; much recent persuasive experimental evidence suggests that the neu-
trino mass is not zero. Current experiments place the upper bound of the 
mass of the neutrino at approximately 7 eV/c 2.

r� It has a spin of 12, which allows the law of conservation of angular momentum 
to be satisfied in beta decay.

r� It interacts very weakly with matter and is therefore very difficult to detect.

 We can now write the beta-decay processes (Eqs. 44.15 and 44.16) in their cor-
rect and complete form:

 A
Z X   S   Z11

A Y 1 e2 1 n (complete expression) (44.19)

 A
Z X   S   Z21

A Y 1 e1 1 n (complete expression) (44.20)

as well as those for carbon-14 and nitrogen-12 (Eqs. 44.17 and 44.18):

 14
6C    S   14

7N 1 e2 1 n (complete expression) (44.21)

 12
7N   S   12

6C 1 e1 1 n (complete expression) (44.22)

where the symbol n represents the antineutrino, the antiparticle to the neutrino. 
We shall discuss antiparticles further in Chapter 46. For now, it suffices to say that 
a neutrino is emitted in positron decay and an antineutrino is emitted in electron 
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Kinetic	energy	of	alpha	and	beta	decays:
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decay. As with alpha decay, the decays listed above are analyzed by applying con-
servation laws, but relativistic expressions must be used for beta particles because 
their kinetic energy is large (typically 1 MeV) compared with their rest energy of  
0.511 MeV. Figure 44.16 shows a pictorial representation of the decays described by 
Equations 44.21 and 44.22.
 In Equation 44.19, the number of protons has increased by one and the number 
of neutrons has decreased by one. We can write the fundamental process of e2 
decay in terms of a neutron changing into a proton as follows:

 n   S   p 1 e2 1 n (44.23)

The electron and the antineutrino are ejected from the nucleus, with the net result 
that there is one more proton and one fewer neutron, consistent with the changes 
in Z and A 2 Z. A similar process occurs in e1 decay, with a proton changing into a 
neutron, a positron, and a neutrino. This latter process can only occur within the 
nucleus, with the result that the nuclear mass decreases. It cannot occur for an iso-
lated proton because its mass is less than that of the neutron.
 A process that competes with e1 decay is electron capture, which occurs when a 
parent nucleus captures one of its own orbital electrons and emits a neutrino. The 
final product after decay is a nucleus whose charge is Z 2 1:

 A
Z X 1 20

1e   S   Z21
A Y 1 n (44.24)

In most cases, it is a K-shell electron that is captured and the process is therefore 
referred to as K capture. One example is the capture of an electron by 74Be:

7
4Be 1 21

0e   S   73Li 1 n

Because the neutrino is very difficult to detect, electron capture is usually observed 
by the x-rays given off as higher-shell electrons cascade downward to fill the vacancy 
created in the K shell.
 Finally, we specify Q values for the beta-decay processes. The Q values for e2 
decay and electron capture are given by Q 5 (M X 2 M Y)c 2, where M X and M Y 
are the masses of neutral atoms. In e2 decay, the parent nucleus experiences an 
increase in atomic number and, for the atom to become neutral, an electron must 
be absorbed by the atom. If the neutral parent atom and an electron (which will 
eventually combine with the daughter to form a neutral atom) is the initial system 
and the final system is the neutral daughter atom and the beta-ejected electron, 
the system contains a free electron both before and after the decay. Therefore, in 
subtracting the initial and final masses of the system, this electron mass cancels.
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Figure 44.16 (a) The beta 
decay of carbon-14. (b) The beta 
decay of nitrogen-12.

Pitfall Prevention 44.7
Mass Number of the Electron An 
alternative notation for an elec-
tron, as we see in Equation 44.24, 
is the symbol 21

0e, which does not 
imply that the electron has zero 
rest energy. The mass of the elec-
tron is so much smaller than that 
of the lightest nucleon, however, 
that we approximate it as zero in 
the context of nuclear decays and 
reactions.
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The decay processes: gamma decay
Gamma	decay	is	a	type	of	radioactivity	in	which	some	unstable	atomic	
nuclei	dissipate	excess	energy	by	a	spontaneous	electromagnetic	process.	In	the	most	
common	form	of	gamma	decay,	known	as	gamma	emission,	gamma	rays	(photons,	or	
packets	of	electromagnetic	energy,	of	extremely	short	wavelength)	are	radiated.	
1404 Chapter 44 Nuclear Structure

between the two electronic states involved in the transition. Similarly, a gamma-ray 
photon has an energy hf that equals the energy difference DE between two nuclear 
energy levels. When a nucleus decays by emitting a gamma ray, the only change in 
the nucleus is that it ends up in a lower-energy state. There are no changes in Z, N, 
or A.
 A nucleus may reach an excited state as the result of a violent collision with 
another particle. More common, however, is for a nucleus to be in an excited state 
after it has undergone alpha or beta decay. The following sequence of events repre-
sents a typical situation in which gamma decay occurs:

  12
5B   S   12

6C* 1 e2 1 n  (44.26)

 12
6C*   S   12

6C 1 g (44.27)

Figure 44.17 shows the decay scheme for 12B, which undergoes beta decay to either 
of two levels of 12C. It can either (1) decay directly to the ground state of 12C by 
emitting a 13.4-MeV electron or (2) undergo beta decay to an excited state of 12C* 
followed by gamma decay to the ground state. The latter process results in the emis-
sion of a 9.0-MeV electron and a 4.4-MeV photon.
 The various pathways by which a radioactive nucleus can undergo decay are 
summarized in Table 44.3.

44.6 Natural Radioactivity
Radioactive nuclei are generally classified into two groups: (1) unstable nuclei 
found in nature, which give rise to natural radioactivity, and (2) unstable nuclei 
produced in the laboratory through nuclear reactions, which exhibit artificial 
radioactivity.
 As Table 44.4 shows, there are three series of naturally occurring radioactive 
nuclei. Each series starts with a specific long-lived radioactive isotope whose half-
life exceeds that of any of its unstable descendants. The three natural series begin 
with the isotopes 238U, 235U, and 232Th, and the corresponding stable end products 
are three isotopes of lead: 206Pb, 207Pb, and 208Pb. The fourth series in Table 44.4 
begins with 237Np and has as its stable end product 209Bi. The element 237Np is a 
transuranic element (one having an atomic number greater than that of uranium) 
not found in nature. This element has a half-life of “only” 2.14 3 106 years.
 Figure 44.18 shows the successive decays for the 232Th series. First, 232Th under-
goes alpha decay to 228Ra. Next, 228Ra undergoes two successive beta decays to 
228Th. The series continues and finally branches when it reaches 212Bi. At this point, 
there are two decay possibilities. The sequence shown in Figure 44.18 is character-
ized by a mass-number decrease of either 4 (for alpha decays) or 0 (for beta or 
gamma decays). The two uranium series are more complex than the 232Th series. In 
addition, several naturally occurring radioactive isotopes, such as 14C and 40K, are 
not part of any decay series.
 Because of these radioactive series, our environment is constantly replenished 
with radioactive elements that would otherwise have disappeared long ago. For 
example, because our solar system is approximately 5 3 109 years old, the supply of 
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Figure 44.17  An energy-level 
diagram showing the initial 
nuclear state of a 12B nucleus and 
two possible lower-energy states of 
the 12C nucleus.

Table 44.3 Various Decay Pathways
Alpha decay A

Z X S   AZ 2
2

4
2Y 1 42He

Beta decay (e2) A
Z X S   Z11

A Y 1 e2 1 n
Beta decay (e1) A

Z X S   Z21
A Y 1 e1 1 n

Electron capture A
Z X 1 e2   S   Z21

A Y 1 n
Gamma decay A

Z X* S   AZ X 1 g

Table 44.4 The Four Radioactive Series
 Starting Half-life Stable End
Series Isotope (years) Product

Uranium 238
92U 4.47 3 109 206

82Pb
Actinium  Natural 235

92U 7.04 3 108 207
82Pb

Thorium 232
90Th 1.41 3 1010 208

82Pb
Neptunium 237

93Np 2.14 3 106 209
83Bi
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Decays with violet arrows toward 
the lower left are alpha decays, 
in which A changes by 4.

Decays with blue arrows toward 
the lower right are beta decays, 
in which A does not change.

Figure 44.18  Successive decays 
for the 232Th series.
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Nuclear reactions
It	is	also	possible	to	stimulate	changes	in	the	structure	of	nuclei	by	bombarding	them	
with	energetic	particles.	Such	collisions,	which	change	the	identity	of	the	target	nuclei,	
are	called	nuclear	reactions.	

Reactions	energy	 	is	the	difference	between	the	initial	and	final	rest	energies	
resulting	from	the	reaction.


•Exothermic:


•Endothermic:

Q
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Exercise
The	nucleus	O-15	decays	by	electron	capture.	The	nuclear	reaction	is	written	




(a) Write	the	process	going	on	for	a	single	particle	within	the	nucleus.	

(b) Disregarding	the	daughter’s	recoil,	determine	the	energy	of	the	neutrino.

Note:	Atomic	mass	of	 	is	15.0030656	u.	Atomic	mass	of	 	is	15.000108	u.

O15
8 + e− → N15

7 + ν

O15
8 N15

7


